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Section : Domain Knowledge

Q.1 3mepfa & gefan man wea Rig A § 9 A ueffa wwar @2

Ans «1_@;
X 2. urfdm

7< 3.
/X 4 ufdr g R

=

Question ID : 5406266082
Status : Answered
Chosen Option: 2

Q.2 fiq iR HaR & ¥ 1 pH A 1T fher=n giar &2
Ans o 1243

X 2286
< 3
5414

Question ID : 5406266214
Status : Answered
Chosen Option : 2




Q.3 The component used in first-generation computers is:

Ans X" 1.ICs

x 2. transistors
“ 3. vacuum tubes

x 4. microprocessors

Question ID : 5406266128
Status : Answered
Chosen Option : 1

Q.4 vwafrR-e/ 39, e d @ fraeh sonrd (Amee) 87
Ans  of 1 ufient (Rerada)

75 2. e o

/X 3. g

75 4. TH.GE.GH. (MMF)

Question ID : 5406266156
Status : Answered
Chosen Option : 1

Q.5 sfte At sifestare &1 e 3T g forT o=t & @ o 7 & v v 87
Ans X" 1 gm (ham)

Xz.é’m(heme)

X&%ﬂ(hame)

o 2.2 (hem)

Question ID : 5406266116
Status : Not Answered
Chosen Option : --

Q.6 oI hi grenm & fog uwdler f.dV.£. (PPE) ®i9-ar 8?
Ans X1 TR o

X 2. & & o

o 3w

75 4 @

Question ID : 5406266081
Status : Answered
Chosen Option : 1




Q.7 fru faaht & ot iR faeaa ot Rfga w7 & Qg St v @ Suhn e srar g2
Ans X" 130 faeft

#< 2.90 fht
/X 345 faht
o 4 60 fht

Question ID : 5406266093
Status : Answered
Chosen Option : 3

Q.8 STF YR 3R ateest & &g 90° T ehedT (%) 3R giaT &, at Tiche i~ 7ot foha= gvm?

Ans (140
5 2.1

75 3. ®urHR

/X 4.0707

Question ID : 5406266167
Status : Answered
Chosen Option : 3

Q.9 & 7E npfa i e | T 3R wige () F whR A ugaE FR

Question ID : 5406266100
Status : Answered
Chosen Option : 2




Q.10 =1 & & -9 IuawvoT (fEarsw) oitw & AT &1 uteT &=ar &2
Ans  of 1 ufiRius

/X 2 FET

75 3.sCR
X 4 @ sEE

Question ID : 5406266221
Status : Answered
Chosen Option : 4

Q.11 3repfar & g2rfar war dsa g e 7 @ foFd veffa awar @2

Ans X1 aies
X 2. treet e et v A (e )
75 3. TR EHF IR R E
W 4 =/

Question ID : 5406266083
Status : Answered
Chosen Option : 2

Q.12 =1 & @ wi=-a1 g uRuy (affe) o wror a8 82
Ans X 1 feeit &1 aimug & e WU A g

X 2. 59 g

/X 3. v gy vfkiee

o 4 s A vt ardy

Question ID : 5406266151
Status : Answered
Chosen Option : 4

== =

Q.13 V-seifer §, VEE & 3idifd <hlUT hT |19 T gldT 2?
Ans X 175 fEth

X 2.30f%A

2% 8.60 ferft

w490 st

Question ID : 5406266095
Status : Not Answered
Chosen Option : --




Q.14 Aresistor is rated for 10 kQ, 1 watt. The maximum voltage is:

Ans

X 1110V
X 210V
K3y

o 4100V

Question ID : 5406266174
Status : Answered
Chosen Option : 4

Q.15 Ga& 31fder wH At o= arelt A-datsht srugen wi=-d &2

Ans

7< 1. 9 ok s
75 2. ifam ok ¢awR
of 3. 3R ek 3w

X 4. ST o e

Question ID : 5406266178
Status : Answered
Chosen Option : 3

Q.16 o 2 FA UR I 311/ STh SIUET & Iuhi fowa STra &, STt AT ATae STy

Ans

& g S=a 9&hd1 Y srmageRdr gl gidl 21

X1 affer

W 2. g o (s o)
/X 3. mfieR

75 4. dr9 gd g (aHichue)

_ —

Question ID : 5406266209
Status : Answered
Chosen Option : 4

Q.17 3Tepfa § f&@mg 1Q i (joint) & TR i ug=m= 3|

Ans

e Jl t

X 1.k

75 2.8u

o 3 sften

»oad

Question ID : 5406266124
Status : Answered
Chosen Option : 4




Q.18 UTq & Qe & o faret gu Tiesr & der o= &l ufohar i o gt SiraT 82
Ans X" 1. zieht ST (Sieefi)

X 2. &

o 3. Rfm

X 4.

Question ID : 5406266119
Status : Answered
Chosen Option : 3

Q.19 fiier AT SRTST UR I TUTENT aTet deRe 3R UTfthaT IeuTRd ohva E
Ans JTW

< 2. h e

75 3. gore

X 4. < dRay

Question ID : 5406266134
Status : Answered
Chosen Option : 1

_=

Q.20 The colour of phase of single core flexible cable is:
Ans X" 1. green

J 2. brown

75 3.blue

x 4. yellow

Question ID : 5406266159
Status : Answered
Chosen Option : 2

Q.21 e 3iienfiier Aeadh vorreht @, foraent Suah ufehar fAesor sk siteifies w@=re= |, v

fafmfor Td=r d SuerRull &l Sitgt & Ueh asich & & | fahar siran g1
Ans J 1. thiesa (Fieldbus)
x 2. Aigad (Modbus)
/X 3. A I (R=SE9)
x 4. vifthers (Profibus)

Question ID : 5406266196
Status : Not Answered
Chosen Option : --




Q.22 SaeFfie aver uarAf & sRuT It Sm @ g & fog e 7 9 foRe s R / e @
g forar Sirar 82

Ans B 1 ur
W 2 g
X 3 @i

K 4

Question ID : 5406266088
Status : Answered
Chosen Option : 2

Q.23 Rl ITANT ST UR U1 a1 pt e & forg foran ST gerar 21
Ans X1 g o R

o 2. fe (el

X 3R

75 4R

Question ID : 5406266089
Status : Answered
Chosen Option : 4

Q.24 du &Y gk Soft ufRay (@ffe) & 120-v smgfef ur Iumin & forg ene 6-W & du it §1 U |
opT TfaRter fore=r ghm?

Ans X" 13750
/X 2.3750
/X 3.37.5k0
o 43750

Question ID : 5406266175
Status : Answered
Chosen Option : 1

Q.25 3rrepfar 7 g21fg Mg WY IuHUT Bt RIFTERT A & Y @ 7 off = areht RAfS Y ggam=

Ans X1 3 ofR R
75 2. g (@)
o 3. it et
75 4. R MR

Question ID : 5406266091
Status : Answered
Chosen Option: 1




Q.26 wivfia AT & forg, gw guf gqar ol w&mr wimnt A fRranfSia fan stran @1
Ans X" 1.180

/X 2.320

o 3.360

X 4.120

Question ID : 5406266105
Status : Answered
Chosen Option : 1

Q.27 g fiig / iz = e areft @it armmar awreil (31 heee) a1 sftsfia o o giar 82
Ans X1 -1

X 2. arerd oot T rereh &

W 3.0

5 4

Question ID : 5406266170
Status : Not Answered
Chosen Option : --

_
Q.28 e f3fSiea afhe il g g7qe X' Ran mar sik 393 sneeye &t Iee (Rrasia) o= Rar mm

gfhe & A & @ fora 1t o1 IuatT forar s geRdr 87
Ans X" 1.NOR

o 2.NOT
/X 3.0R
75 4. AND

Question ID : 5406266188
Status : Answered
Chosen Option : 2

Q.29 pp #, Prer i @ Fie-a1 Rew GohT 78 &2
Ans  of 1 srREH W

X 2. & wm

/X 3. SR

/< 4 aR&wm

Question ID : 5406266219
Status : Not Answered
Chosen Option : --




Q.30 2ifé wfhe & R, afehe uferty 1 A= Reaan gtar &2
Ans J 1. 9gd &

X 2. 3Fa

X 3.9\

X 4.3

Question ID : 5406266150
Status : Answered
Chosen Option : 2

Q.31 Qeh ATSShITIAER #, 31321 (FgaRM™) h ¥R T ol fohe w1 & 1 Stret 82
Ans J 1. 3iTa<E (operand)

x 2. TR IS (operation code)
x 3. 3if¥s &S (operand code)
x 4. 3ifuehts (opcode)

Question ID : 5406266145
Status : Answered
Chosen Option : 2

_ T

Q.32 ______ Ueh YOTIeN @, St TR A1egw] W= hif2d Tehal & gy anferd gidt & 3 Rele Suezui ar
frd=roT veT @t 81

Ans X1 HMI
75 2.pcs

/X 3.PLC
o 4.SCADA

Question ID : 5406266197
Status : Answered
Chosen Option: 3

Q.33 = @ FH-91 U yraRwR 87
Ans  of 1 TRIAC

75 2.1GBT

/X 3.FET

/< 4.BJT

Question ID : 5406266222
Status : Not Answered
Chosen Option : --




Q.34

Ans x1~

Question ID : 5406266218
Status : Answered
Chosen Option : 1

Q.35 AU aesl ST 2Afh UTh T g &2
Ans X 1 g 0.8 3

75 2. gz am

W 3

X 4.ug

Question ID : 5406266171
Status : Answered
Chosen Option : 2

Q.36 .&. (CT) & WR &t g 7 @ v deef A = forar SsraT 27

Ans  of 1 VA
75 2.Wh
/X 3.kWh
X 4V

_

Question ID : 5406266173
Status : Answered
Chosen Option: 1

Q.37 Effective address of a register index addressing mode is given by the:

Ans x 1. difference between the index register value and the operand

( 2. sum of the index registervalue and the operand

X 3. index register value

x 4. operand

Question ID : 5406266220
Status : Answered
Chosen Option : 4




Q.38 &1 h1 8085, Uah ______fae ArgshimieR &1
Ans X112

X 2.6

X 3.4

v N

Question ID : 5406266138
Status : Answered
Chosen Option : 4

Q.39 & 7 Irrepfa il e @ 3 o whrget (¥eft) & yhR Y ugEE HR|

Ans  of 1 a7 @ HrEd
75 2. a5k e Hige
/< 3. 3 e wigd
/X 4. Riet she whiger

Question ID : 5406266099
Status : Answered
Chosen Option : 2

—

Q.40 10 3% & ufaRie 3R 0.05 H 3 MRehed AT ek WRMOYE e (FarseT) 240-alee 50-Th Q1.
(AC) A1 & =T gor &1 |fthe o 21f<h uTeh Rt ghm?

Ans X' 1.0

o 20537

75 3.537

5 4

Question ID : 5406266165
Status : Not Answered
Chosen Option : --
=

Q.41 Teh TR 291 aTAT IUHRUT &, Frent IuaivT 3fed o U &t 51 ok Ture &,

HieA 3R ges ung Y 2fie s & forg fora smam @1
Ans X 1. e (@eie)
5 2 gda
o 3. Malled)
75 4. 97 (Mellet)

Question ID : 5406266122
Status : Answered
Chosen Option: 3




Q.42 ge S+ 7, fig i et dag ok Fres & fFR W 3aa= o f Tag (ad athe) w @i

w2REr & fi=r & 1o R AT HET ST 82
Ans X1 i
X 2. mAE
/X 3. Rigao
o 4. Pt on (aefrate grer)

Question ID : 5406266111
Status : Answered
Chosen Option: 3

Q.43 A= & @ -t g sifer afA @2
Ans X1 §@

o 2. s

X 3.9R

5 aam

Question ID : 5406266160
Status : Answered
Chosen Option : 4

Q.44 dt.ge.#. (PLC) HuR & forg faerfRa west v f3fSies vidiarie § @ ga siq-31 ur?
Ans X" 1 giifthag (Profibus)

o 2. sisa@ (Modbus)

/X 3. AT 5 (RS 59)

x 4. Hhiesa9 (Fieldbus)

Question ID : 5406266193
Status : Answered
Chosen Option : 4

Q.45 faregga woif H gerd (ATaIR) T gt @2
Ans J1a1z€ra

p A cEo

X 3

/X 4.

Question ID : 5406266168
Status : Answered
Chosen Option: 1




Q.46 T Q.. (AC) Tfthe & 1000 kHz &t 3rrgfay TR &1 R T@T 20-mH T FHae (STSe) A g1 &l
G (FaTSe) 1 IR0 uferara fre=m ghm?

Ans X' 1.12560

75 2.1.256 kQ

o 3.1256k0

75 4.12.56 kQ

Question ID : 5406266163
Status : Not Answered
Chosen Option : --

Q.47 Qehd-aherT (RivTer tho) gk & fgdiaes ofik urufies gama (argfEhm) & shaar: 180 3k 90 dee
(e+f) Rw & wefda ufaRie 0.233 i i 0.067 3w &1 fhaes gqura (arEfen) & def &
A guTa (arEfET) @ aagea ufadiy oar gm?

Ans X" 102330
/X 2.00580
o 3.02680
/X 4.00670

Question ID : 5406266181
Status : Answered
Chosen Option : 1

—

Q.48 uTg ! 31T e & forg B+t gera wwa e | 9 59 uaR & g1 o1 Iuai forar srar 82
Ans X' 1 %0 gefter

X 2 et

/X 3. hig-oe gefter

o 4. st geter

Question ID : 5406266094
Status : Answered
Chosen Option : 1

= =

Q.49 arresf uRfSfaal |, sifferaw 1.3t (DC) faRieht ateear forat gieht 82
Ans x 1.0

K 2.1

o 3

75 4. 9gad o

Question ID : 5406266191
Status : Answered
Chosen Option : 3




Q.50 240 V &} 3gfef U= 0.42 A fit URT & a1t Geh AT hY 217k Y O FHR
Ans X 157w

X 210w

o 3100w

X 4.570W

Question ID : 5406266148
Status : Answered
Chosen Option : 4

Q.51 =1 § & shger & aI1g] sTEdaR ueah (dhulHe) hi ugar &3
Ans X' 1 CPU

W 2. &=
X 3.eég=a
/X 4.SMPS

Question ID : 5406266130
Status : Answered
Chosen Option : 2

Q.52 Teh Hiex nifa a1 ufaRter 50 O @ 3R 397 1 mA @1 gof dar fRggor &1 fa i 2 A & guf da v

Ans

fagtgor aret wfier & e & fAQ srmaae 2ie 1 |71 T ghmn?
X 1.25Mw
5 2.250
/X 3.25k0
o 4.25m0

Question ID : 5406266180
Status : Answered
Chosen Option: 1

Q.53

Ans

, SaTer @ Ugd / e A AresRmaeR i R @ garfar 21
o 1. R

75 2 @ R

X 3. < (TREAR)

75 4. T e SR

Question ID : 5406266141
Status : Not Answered
Chosen Option : --




Q.54 3repfar A @y Y IJuehvor Fi ugE w|
Ans X" 1. gepraer e (o )

/X 2. g fer (e )

W 3791 gon B (3= )

/X 4. e (e fem)

Question ID : 5406266121
Status : Answered
Chosen Option : 3

Q.55 3frepfar # g21fg T WY IUHUT ol I8 & forg v A &t ST areft fafd H ugam w2

Ans X1 @R
X 2.3
X 3. ()
o 4 F= ek

Question ID : 5406266090
Status : Answered
Chosen Option : 4

Q.56 aTgHT @t e 7 @ fores 7l Ao e 87
Ans X1 F

K 2.k

X 3R

o 45

Question ID : 5406266205
Status : Answered
Chosen Option : 2

Q.57 ﬁwﬁﬂaﬁqwuwméga;w(m:a)ﬂmﬁaqﬁ%?
Ans  of | zed

X 2. 9fRw

/X 3. ot

X 4 e

Question ID : 5406266211
Status : Not Answered
Chosen Option : --




Q.58 120 gl WR Uak 201< Gfhe & Tare, [Siaes aRumawassa 500 A & 21T gffe arr gt g, i
ATeTehdT T gRIT?

Ans o 1 4765

X 24160
X 3.416S
75 4416

Question ID : 5406266223
Status : Answered
Chosen Option : 2

Q.59 = srgaan (3=gaeM) d & h9-91 pp & aifches Hare (ASieer ATRM) &R & g e &
forar s geRar 82

Ans X" 1 ADI
X 2. AN
o 3. ANI
5 4. NR

Question ID : 5406266146
Status : Answered
Chosen Option : 4

S
Q.60 50-Hz MYfd & 1.4 A a1 Tiwt uR Geh Gfhe o1 tRevea 4 H &, afthe 6 ufaerd afts (Refra
UTeR) T ghft?

Ans & 1.2.46 kWh

x 2.2.46 var

/X 3.2.46 kw

o 4246 kVAR

Question ID : 5406266164
Status : Not Answered
Chosen Option : --

= S

Q.61 TRIde du |fhe & 9t o1 ek A= A @ frwent dfRa sz 87
Ans  of 1 aiftrs S

X 2. =l

75 3. arr

75, 4. &foreh g arT

Question ID : 5406266157
Status : Answered
Chosen Option : 1




Q.62 fafre et it 3hTE (AT57eR) T et &2
Ans X 1.U/s

X 2.BUT

/5 3.0TU

o 4.BTU

Question ID : 5406266208
Status : Answered
Chosen Option : 1

Q.63 & Iuaeur (faars™), Sit ueref & «ifae ar faega it & aReds &t wiveR seasr =u & smdar

1 HTGH &ed &, foRe 9 @ o4 o @2
Ans x 1. gfAreiex (humidometer)
o 2. sréamd (greiie)
/< 3. T
75 4 g

Question ID : 5406266212
Status : Answered
Chosen Option : 4

Q.64 3repfar # @ g u () & v 6 ugam 3|

Ans X' 1 Tuon (Re)
o 2. T Esa oo (R
/X 3. gifere T-zrgy urn (R)
X 4. Tarsa ur ()

Question ID : 5406266115
Status : Answered
Chosen Option : 2

Q.65 01 x 111 =T aRoTTs a1 g2
Ans o 1 0111

/X 2.1001

75 3.1000

75 4.0001

Question ID : 5406266189
Status : Answered
Chosen Option : 1




Q.66 _____, Sfiarupsil 3fiR IvTsiienl ot wHehrd &R ek A & & fAIg ek = & & &1 s
aTeft Qe ufehar 21

Ans X 1 fareden (feaem)
< 2. sidvs (5Oger)
/X 3. afeafe / sfeare (o)
o 4. Rz (RRasm)

Question ID : 5406266224
Status : Answered
Chosen Option: 1

Q.67 The warning sign depicted in the figure denotes:

Ans ( 1. risk of electric shock
x 2. risk of explosion
x 3. risk of fire

x 4. risk of ionising radiation

Question ID : 5406266085
Status : Answered
Chosen Option: 1

Q.68 Tfe ¥Tes fil Tw=am &1 A= 5000 & 31fdek &, af varg aar ghm?
Ans X 1 gmey

75 2. % iR siia varg w1 W

p R

o 4 v

Question ID : 5406266203
Status : Answered
Chosen Option: 3

Q.69 Qek TemRa Y 25 V ek S & & fArg 0.5 C 3mder Y srasaarar gidt &, et efar o
gnfi?

Ans 1.2F

75 2.0.029F
75 3.02F
of 2 002%

Question ID : 5406266158
Status : Answered
Chosen Option: 1




Q.70 R&w, wite siik Ry & 7gwrs A & forg @ A forar s+ aren vad (1) a-am g2
Ans K 1. TR - sraTel (TR o)

/X 2. Rl vt

25 3. FrerRo v (i)

o 4. G TR - g

Question ID : 5406266113
Status : Answered
Chosen Option : 3

Q.71 A= & @ e Y, fifer & g & A +ft s areft wiafar aror 98 82
Ans X1 pCL

J 2. C++

/5 3.PDF
X 4 diefere

Question ID : 5406266135
Status : Answered
Chosen Option : 1

T

Q.72 3repfar # i@ g Fieten (Rae) & v 6 uga= &3

Ans x 1. eieaTeRR Y dhieteh (e g8 Rae)
W 2. Znfia e (a1swhe Rac)
X 3. g e (e Ree)
7 4. of aftf freres (87 2 Rere)

Question ID : 5406266126
Status : Answered
Chosen Option : 3

Q.73 1 & & -+t e afeer afA @2

Ans Jlaa

/X 2. amEE

p

/X 4. e

Question ID : 5406266161
Status : Answered
Chosen Option : 3




Q.74 & 7 sropfar A Rad ¢ wige (¥7ft) & vhR Y ugET R

Ans X 1 it ¥t (TR hTge)
o 2. R Wt (@fer wE)
/< 3. 5% Wi (g% wige)
X 4. srgerier et (o e )

Question ID : 5406266102
Status : Answered
Chosen Option : 2

Q.75 150 mm &} wed arelt Riewft wiget (V38 w1ze) o1 3 @1 ghm?
Ans X" 119

X 2.20

o 324

K 422

Question ID : 5406266101
Status : Not Answered
Chosen Option : --

Q.76 3Rl & g2riar o gier Haha e d @ ot e aear &2

Ans o 1. ot ofik S & G e TR A arel aBl e
X 2. 94 @ o A AT @ Wbt AT
75 3. 0B @ a1 R are Y Aeelr
75 4. @ 3 R A o A

Question ID : 5406266084
Status : Answered
Chosen Option : 2

Q.77
Ans x 1. 358 rpm

o 2.398 rpri
75 3.400 rpm
/X #4878 rpm

Question ID : 5406266114
Status : Answered
Chosen Option : 2




Q.78 5-31 ufeRte aTet Uah dhse (Farse) 50-pF & Hunla & ary siofierm A Sper 81 afy afde 100
Hz WR SR gien &, af dhaet (Faree) & IRehed Y MU 1|

Ans  of 1 50 mH
/< 2.5H
/X 3.5mH
75 4.50H

Question ID : 5406266176
Status : Answered
Chosen Option: 1

Q.79 =1 & @ F9-h Uk g 5opTE (AT5E) 872
Ans  of 1 s

/X 2.9

/X 3. 3

< 4. &

Question ID : 5406266107
Status : Answered
Chosen Option : 4

Q.80 &-20f sois T & forwrem =T gl 87
Ans X" 1. 3o fAly ug SEd

o 2. fr sy eng se

/X 3. ot sEmE

X 4 g

Question ID : 5406266097
Status : Answered
Chosen Option : 4

Q.81 8085 3UA RN Ve (FRERA V) R T h g Fer _____ fae et o1 Iuzin aar 81
Ans X 1.276

/X 2.200

o 3246

75 4.234

Question ID : 5406266139
Status : Answered
Chosen Option: 1




Q.82 240-V Y 3TgRT 1R 0.42 A Y 4T A ATk Fu Y 21 T N2
Ans  of 1 100W

X 290w

X 310w

X 4.80W

Question ID : 5406266169
Status : Answered
Chosen Option : 1

Q.83 & 77E arepfa Y o= @ T SR gh-20T s F YRR A uga= HR

Ans X1 erefielt sote
X 2. gt ek s (3t 1 =)
o 3. < & e (e sifw T i)
/X 4 RRwE

Question ID : 5406266098
Status : Answered
Chosen Option: 1

Q.84 Uek farega 5@l &t 750 W/ 250 V & & § 3¢ fakam man @, g9ent s&uTet 90 fere & forg faman
ST @, 39 SR @ud g1 areft fargga 3wt &l o 3|

Ans X" 1.0.12kWh
75 2.11.12kwh

o 3.1.12kwh

75 4.10.12kwh

Question ID : 5406266149
Status : Answered
Chosen Option : 2

=

Q.85 HART =1 & @ foreen wifaia &u 82

Ans X" 1 gréaeR UgRe Refle gire@R (Hardware Addressable Remote Transducer)
J 2. g18d Ugded Rele giaeger (Highway Addressable Remote Transducer)
X 3, BTEIMR Yghad RAte gifoiex (Hardware Addressable Remote Transistor)
x 4. grsd ugded Rete gifSiex (Highway Addressable Remote Transistor)

Question ID : 5406266199
Status : Answered
Chosen Option : 1




Q.86 U fafe Repfs @t v .18 (DVD) & frasft sg &t wendll &2
Ans X' 1.47TB

X 2.47MB

o 34708

X 44795

Question ID : 5406266136
Status : Answered
Chosen Option : 3

Q.87 If the colour band on a resistor is in the order - Red, Green, Orange and Gold, then its
resistance without tolerance is:

Ans & 1.2700
o 2270000
75 3.27000 kO
/X 4.27000

Question ID : 5406266154
Status : Answered
Chosen Option : 1

Q.88 =1 & @ wiA-Tt Ueh ogeua gentd (AT5TeR) &2
Ans X' 1 gy

75 2. zemmm

o 3. s
75 4. cierd

Question ID : 5406266110
Status : Answered
Chosen Option: 2

Tk Ul (fars) g, et Suain a1 it ot A=t & forg fvam siren @ oi ama &t
g favramrht & e faerea & = & oft v A forar smar @1

Ans X 1.LVTD
K2 T
7 3. drd A g (i)

o BupT

Q.89

Question ID : 5406266228
Status : Answered
Chosen Option: 3




Q.90

Ans ( 1.

Question ID : 5406266190
Status : Answered
Chosen Option: 3

Q.91 [ vl aret afhe & forg 21f<k 1oTes o1 71 o/ gl &2

Ans  of 11

5 2. s
K 3.1
540
Question ID : 5406266166
Status : Answered
Chosen Option : 1
Q.92 ___ #9 T1 avet uer o ag ot &, Sit il ar warg & ufa swch wfakiy o1 Ao sRar gl
Ans  of 1 s
X 22w
75 3. megsy
25 aam
Question ID : 5406266202
Status : Answered
Chosen Option : 4
Q.93 R Ul d, Rep IMWAR W _______ eh & gAY famar siran &1
Ans X" 1 FIFO
/X 2.FILo
o 3.LFO
X 4.UMO

Question ID : 5406266143
Status : Answered
Chosen Option: 1




Q.94 The basic DTL configuration is:
Ans X" 1 AND gate

x 2. NOR gate
x 3. OR gate

o 4. NAND gate

Question ID : 5406266226
Status : Answered
Chosen Option : 4

Q.95 =1 & @ wi=-a1 f.ue. . (PLC) &1 It geeh (hulie) Tl &2
Ans X" 1 CPU

K 2. 37z ok sTreege NEw

X 3. A&

o 4 HmI

Question ID : 5406266195
Status : Answered
Chosen Option : 2

Q.96 Bt T IUTNT Tk T wilg ol hiea TH foig YT (dfde Girer) o1 |4 A 7 @ o 3@ s

&
Ans X" 1 45 fah

75 2.90 feift
o 3. 60 fft
75 4.120 feft

Question ID : 5406266112
Status : Answered
Chosen Option : 3

_ —

Q.97 ______dd d &, =g &t fAsTrdia gy Siaer @ fAafor s & forg e &
Ans o 1. ar dege g ()

X 2. g wfsfie (@rsmefere i)

75 3. uftfeR

/X 4. wwfdieR

Question ID : 5406266210
Status : Answered
Chosen Option: 1




Q.98 . #. (PC) i grE-wftz Sexrie darsil & itz & fag o d o ST arer uié &ie-a18?
Ans X 1. giifedt o

/X 2.UsB Ui

/X 3.veAwéE

o 4 LAN TG

Question ID : 5406266132
Status : Answered
Chosen Option : 4

Q.99 arepfar # fe@Tg 1Y SitE (joint) & TR hi uga™ R

Ans X1_aq

v

/X 3. @k
X 4 sefendy

Question ID : 5406266125
Status : Answered
Chosen Option : 3

Q.100 farsizrmoT Y ufehar # A= & @ forgerT SuiT foRaT SiTaT 87
Ans X 1 e (ss)

o 2. R

7% 3. e TrEsiiaTEs

/X 4.co

Question ID : 5406266225
Status : Not Answered
Chosen Option : --

_ —

Q.101 f-A (T A) 31T & dgd 1A arerr uersf {3 & @ sp=-ar &2
Ans X" 1. sniffier uq (v T Aeey)

X 2. 7 ok gfer

v 3.7

/X 4. saemsie el

Question ID : 5406266087
Status : Answered
Chosen Option : 2




Q.102 ____, 3/9dd Iuaheull ¥ foh g-amer £2fersie it / sifth area e nifoiT fawed ok 9
AR e @ f3fSies ghiaror ok Rem Y gfaur wem @=ar g1

Ans  of 1 HART
25 2. HMI
/X 3.PLC
75 4. HML

Question ID : 5406266200
Status : Not Answered
Chosen Option : --

Q.103 f7 # @ -1 Teh UhR T heex -Tgl &2
Ans X" 1 mTgeRt deR

X 2. F g

/X 3. e dheger

o 4 3Rt

Question ID : 5406266129
Status : Answered
Chosen Option : 4

Q.104 fA=1 & @ - &g it g, . gq. (FPS) 3RS (AT5TR) &2
Ans X1 die

X 2.4

VR

75 4 FEf

Question ID : 5406266109
Status : Answered
Chosen Option : 4

Q.105 Tk a3t a1 pH |1 A & @ v =19 & &t Gepar &2
Ans 10918

52087
/X 3.0840
W 2 o0a%

Question ID : 5406266213
Status : Answered
Chosen Option : 3




Q.106 ______ Qe aTe+ 99 A (el a9 Wes) g, e gop Asta dvgex & o, g d
HTSehiche ek 3R IURUIT hl Yok SR h TIY HaTe/TaR (FHhyor) -t H srgafa 33 & fog
fesmea frar mar @1

Ans X 1. giifthaE (Profibus)
o 2.5 (CcAN) T
/X 3. 5es@ (Modbus)
/X 4. Hiezsq (Fieldbus)

Question ID : 5406266198
Status : Not Answered
Chosen Option : --

Q.107 371 # & &i9-41 aredier &1 R 78 872
Ans X 1. foR fg (sdwgRR)

75 2. 3R (Fgarr)

/X 3. smAmfi

4. Fregh

Question ID : 5406266179
Status : Answered
Chosen Option : 2

Q.108 3frepfal # @ g Iuehvor it uga™ w1

Ans X" 1. reT (3HT)
X 2. affR HRR

/X 3. o e
o 4 5 dferw

Question ID : 5406266120
Status : Answered
Chosen Option: 3

Q.109 fA= faarsy & 9 T &1 udar TH & g, e d fAg S a1t SueroT 6t ug=aa?

Ans XT‘;@_“R(W)
o 2 ddqis
75 3. gRigde dae A
/X 4 dee ey

Question ID : 5406266106
Status : Answered
Chosen Option : 4




Q.110 =1 & & -4 SrepTeleh Ferer T8 87
Ans X 1 HCL

/X 2. iR et

o 3.3 @RF)

75 4. i irige

Question ID : 5406266123
Status : Answered
Chosen Option: 2

Q.111 Tah UTg & gohs i e 2 aret g2 (A5 83 8R) & e 39 et | ager= Y ufshan,
FHEeredt 82

Ans X 1 fehfR
5 2 af
o 3.3

5 4R

Question ID : 5406266118
Status : Answered
Chosen Option: 1

Q.112 weptar &t dierar &t fifker sarE (wmes) F9-@ 82
Ans  of 1 FRan

75 2. &ea

PR o

x 4. I (Lux)

Question ID : 5406266108
Status : Answered
Chosen Option: 1

Q.113 SR sTalE & Agayuf Sguai | 9 U 81
Ans X 1. gRT g dieRst QT o HgE

o 2. de g
/X 3. arifgEa
75 4. uferen e

Question ID : 5406266177
Status : Answered
Chosen Option : 1




Q.114 A1 & @ Fi=-91 v FAfery ezl & suahr 7@ favan srem?
Ans X 1 g

X 2. vfkiee

W 33w

X 4R

Question ID : 5406266187
Status : Answered
Chosen Option: 2

Q.115 hoIUR ol geh TS -1 6 Agg @ @fka Sfe 1wy Awar g1
Ans x 1. wif Sifee

X 2 g

o 3 Bmsie

p S

Question ID : 5406266092
Status : Not Answered
Chosen Option : --

_ T

Q.116 Qe giforeex o ghar g?
Ans  off 1 g dide ok e ar Rarsw

/X 2. P Rarga
75 3. 3o uri Rarsg
X 4. 3= i fearsa

Question ID : 5406266185
Status : Answered
Chosen Option : 1

_ =

Q.117 1 # & dvgex & S1iaReh gTEATR Ueeh &l ugdar &l
Ans  of 1 difddi e

X 2 mfeR
7< 3.LcD
p R

Question ID : 5406266131
Status : Answered
Chosen Option : 3




Q.118 i GoT (Fhet) & SIER 1 atm ST T FaUTH foha=T glar &2
Ans  of 137315K

X 2.37.3K

/X 3.273.15K

/X 4.180K

Question ID : 5406266207
Status : Answered
Chosen Option: 2

Q.119 3ifAarier arfaer aRuy AR wR & 21fts W) anferd g &1 ag & afh T fohaa gt &2

Ans o 1.3HP
X 2.8HP
75 3.15HP
X 4.10HP

Question ID : 5406266227
Status : Not Answered
Chosen Option : --

_

Q.120 6-ule 2-"fhe dg-FAaes SR & 250 TTeIeh & 31K a8 1200 rpm UR T 81 Gt TRUT TR

I faega grarha 9«1 600 V g1 v uie Suzisft e fohaeir ghm?
Ans "1 4 Wb

75 2.0.04mWb
/5 3.0.04 Wb/m
o 4.004Wb

Question ID : 5406266183
Status : Not Answered
Chosen Option : --

Q.121 F5-amermd ugfar v weticn () @ g 27
Ans  of 12

K 2.0

75 3.10

54

Question ID : 5406266182
Status : Answered
Chosen Option : 1




Q.122 f3fSe Suaevit & ugw gl SR &1 aufq F & g wa Fwfarsi g & & ft o

areft depsiien e d § spi-+ 87
Ans  of 1 EDDL
25 2. HMI
/X 3.EDL
75 4 HART

Question ID : 5406266201
Status : Answered
Chosen Option : 2

Q.123 _____ 9w, argHT= A1 & forg w@ftepfar v ot arert ugen dem

Ans X1 fem
X 2 ¥
/X 3. ¥
W 4w

Question ID : 5406266206
Status : Answered
Chosen Option: 1

Q.124 Uah B yHTdh (T157) # SR R &) |1 a9 g4 &, 51l Ueh g & T+ig h RI0T TR eI

S 8l
Ans X" 1 120 ferft
/X 2. 60 feift
75 3.75f
o 4 00 fht

S

Question ID : 5406266215
Status : Answered
Chosen Option : 4

Q.125 A # @ &9 @ gah TR-Terg= (AF-wger) A& agi @2

Ans X 1 e Af
o 2 faafET
/X 3.8
75 4. e ey (Hesfam)

Question ID : 5406266127
Status : Answered
Chosen Option: 1




Q.126 "fhe e & aTdia Hueh (SnfdT shiede) AR W A 7 & foreds a9 g4 82
Ans  off 1. i dme sy g

X 2.Y s arg

p R

/X 4. dfa

Question ID : 5406266172
Status : Answered
Chosen Option : 1

Q.127 UTq & Qe MEATRR goha o fohTR Tt HIS Y UfehaT ) T shgl SITaT 8?
Ans X1 g
X 2. it

o 3. o

X 4.

Question ID : 5406266117
Status : Answered
Chosen Option : 1

_ T

Q.128 &=t 3T g3 & Tt A =t § @ sp-ft A o gt @2
Ans  off 1 e dgTaiREs

X 2. Pt A

#< 3. graeirge

X 4 @fomm i

Question ID : 5406266086
Status : Answered
Chosen Option : 1

_ _
Q.129 The international standard for controller programming in PLC is:

Ans  of 1 iEC
/X 2 IEE
75 3. IEEE
/X 4. ER

Question ID : 5406266192
Status : Answered
Chosen Option: 3




Q.130 fifee 3N (W) P & @ frg wars o J Iuerey gt &2
Ans X" 1.50 mm 3R 150 mm

75 2.80 mm 3k 120 mm
o 3.120 mm 3R 180 mm
75 4.200 mm 3R 260 mm

Question ID : 5406266103
Status : Not Answered
Chosen Option : --

Q.131 f&-amurdt ugfa & gemera 1 &} fora uerR forar s aear 82
Ans X" 1.1000

/X 2.0010

/< 3.0100

o 40001

Question ID : 5406266184
Status : Answered
Chosen Option : 2

Q.132 ueh A9 waefer &, CMRR a1 A1 /1 g1vim?

Ans X1 @m
X 2=
X 3.5 (79)
f 4. w5 ot

T

Question ID : 5406266217
Status : Not Answered
Chosen Option : --

_ =

Q.133 pp # Qe Sichfordta sifshar & afkoms @t Fea 7 & foras dudia forar sirar g2
Ans X1 g

X 2. 9R&

o 3. e (SRR

X 4=

Question ID : 5406266147
Status : Not Answered
Chosen Option : --




Q.134 3fifteehet f2%h (CD T1 DVD) WR Hid (source) AnTft @l Rept€ et it ufehan =t fore s & s

ST 82
Ans B feefif
75 2. 8fgn
X 3.
4 afem

Question ID : 5406266137
Status : Answered
Chosen Option : 2

Q.135 fafre ufaRiy 6 g (Ar=reR) @rar gt &2
Ans X 1. pfoRierdhar

75 2. o

75 3. o - ez af

o 4 i -

Question ID : 5406266152
Status : Answered
Chosen Option : 4

Q.136 8085 ATSRIVIATR & fAg foha= argder (s=garr=T) g Thd &2

Ans X1 246
W 2. 256
/X 3.234
75 4.200

Question ID : 5406266144
Status : Answered
Chosen Option : 2

Q.137 fRq g Tfdhe &, et (FoT) 3icR fhaan &7

Ans X" 1 180 feeft
o 2 00 fht
75 3,120 feihy
75 460 fHh

Question ID : 5406266162
Status : Answered
Chosen Option : 2




Q.138 Uah a9 a4 foha@ sar glar 82
Ans X 1. Qgfafom
p A
Jamgmra

p R

Question ID : 5406266096
Status : Answered
Chosen Option : 4

Ans X' 1 18fde
W 2. 16fc

X 3.12fe
X 4.8fRe

Q.139 R ulger Uah _______ ¥Sie glan g, e Suzhn & d Sfva avat & forg foram stmar 81

Question ID : 5406266142
Status : Answered
Chosen Option : 3

_

31T S g, for A @ Sireht st @2
Ans X 1. sfgfe (Fisdw) 3R
75 2. afz uReR (23 &)
W 3. &f (giRe)
X agR

T

Q.140 uferar fAd=ror 7, ger YR AEs Y et fa=er, foad e aFcs a9 3 Ima &R )

Question ID : 5406266216
Status : Not Answered
Chosen Option : --

Q.141 wrafaes RAfFear & ABC #, 'C aar Afe wwarg?
Ans X 1. qge (chreree)

o 2. ofeR (wdoR)

/X 3. Thes (@miem)

X 4, GYEe (HhThe2r)

Question ID : 5406266080
Status : Answered
Chosen Option : 3




Q.142 @ ufter ) Ao 3 forg Py § @ aie-oft RfRY it = oY omeht 22
Ans X1 fea farst

W 2 SR iR (Rrdi ersw sitiex)

X 3. iR ok wftex Ry

/X 4. eTR SR

Question ID : 5406266155
Status : Answered
Chosen Option: 2

Q.143 & 7 srepfal ol e & 3 o fifde wiger (31 & v fi uga W

Ans f 1. qUTE R (TR TsT)
25 2. it R
X 3. I PR (T5%)
75 4 anfer

Question ID : 5406266104
Status : Answered
Chosen Option : 2

Teh EiT=gER g, fordert 3uain wafs @i &t faega dadhat A uRafda @A & o forar

Q.144
ST 21
Ans X 1 SrEeiR
W 2 T
X 3. 3w
X 4 gmee

Question ID : 5406266229
Status : Answered
Chosen Option : 4

S

Q.145aﬁ?~ﬁmﬁmm,§aas&—:aﬁz_aﬁﬁamdﬁuzaﬂm%|
Ans X 1. za o ZegHA

/X 2. coaE- e &%

(3.Wmuvnsﬁﬁw

25 4. sgrran

Question ID : 5406266204
Status : Answered
Chosen Option : 4




Q.146 =1 § @ H19-971 Teh YR oh1 ufaRieres T8 87
Ans X" 1. el e ufaRtere

/X 2. uRafRa ar vfdiee

75 3. arg fvew ufdRieres

o 4 uffz

Question ID : 5406266153
Status : Not Answered
Chosen Option : --

Q.147 &= ifSieh UHITH I SUANT hEex qheee @ R UAfd Qeh ____ WIUTH & 91 Saier &7
foram SITar 81

Ans o 1 HMI
75 2. HML
/X 3.HIM
75 4 HTML

Question ID : 5406266194
Status : Answered
Chosen Option: 1

Q.148 Uk ATShITINER d Taraes (TrRgeer) e a1 o1 dug R aaar gl
Ans " 12

2.6

75 3.4

W 438

Question ID : 5406266140
Status : Answered
Chosen Option : 4

Q.149 RAM o1 A9+ 1 & & o foma sima 87
Ans J'I.EIEE}?

X 2. e

X 3. ey

#< 4. fT (pins)

Question ID : 5406266133
Status : Answered
Chosen Option : 1




Q.150 Qe 315-a4T fAEehReR &1 T4 ehieeh fha=T glar &2
Ans X111

X 2.175

X 3.2

o 4121

Question ID : 5406266186
Status : Answered
Chosen Option : 3

Section : General Hindi & General Knowledge and Reasoning

Q.1 F=fafla & @ &= a1 arer 35 78 87
Ans X 1. Rl & AR o1 T

W 2. et &s 2 3R

25 3. g5 o do1 e ST

25 4. 9R & O3 & afgai off

Question ID : 5406265739
Status : Answered
Chosen Option : 3

Q.2 '3 |g AT HEgTaR 1 7Y &
Ans ( 1. g8 e &

/X 2. s

X 3. afagar

X 4. BRS

S

Question ID : 5406265732
Status : Answered
Chosen Option : 1

Q.3 fF=fafla d & o a1 g sig 8?7
Ans X" 1 gar & 7 9 T 21
75 2. Riere qoTel Fngmesic g 81
75 3. vohR st
of 4w et & R @ 2

Question ID : 5406265745
Status : Answered
Chosen Option : 4




Q.4 ‘sifard & e e &:
Ans X 1. Greafie

/X 2. sFTasas

75 3. frefm

v 43

Question ID : 5406265741
Status : Answered
Chosen Option : 4

Q.5 31T 31 qF AR SAlehifh o Y &
Ans X' 1 9R) 3R  Hehe @ R ST
W 2 @i & i aefea @ e
75 3. SToRed e e
75 4. gefiea & ok gefed o

Question ID : 5406265734
Status : Answered
Chosen Option : 2

T

Q.6 'veahAT o1 & foIg Sugeh TRt 8
Ans  of 1 @ BT

75 2. F@ R
X 3. umg
/X 4. urg de

Question ID : 5406265738
Status : Answered
Chosen Option : 1

Q.7 'Hwor o et o
Ans x1m
v 2.f
X3
X 4.

Question ID : 5406265735
Status : Answered
Chosen Option : 1




Q.8 HH - dA5d A T I AT TiH Tl 81 &2
Ans X" 1. et - HrHET

2. 3R -

X3

/X 4. Reh - Qe

Question ID : 5406265744
Status : Answered
Chosen Option : 4

Q.9 fiw 2rez &1 I &1 g FE TET &2
Ans ( 1. gt - frfm

25 2. af - s

/X 3. emm - fmm

/X 4. 5= - R

Question ID : 5406265743
Status : Answered
Chosen Option : 1

_ T

Q.10 'ST&er 1 yafgard! 21 8?
Ans X1 aiRfy

X 2. afs

W 3. afe

X 4T

Question ID : 5406265742
Status : Answered
Chosen Option : 3

_ ==

Q.11 T d @ aem s A Y &
Ans X1 g

X 2. 7R
VR
P R

Question ID : 5406265731
Status : Answered
Chosen Option : 3




Q.12 fF=afafeEs d & g 2 &1 g &9 78 87
Ans xl“ﬂ?{

o 2 a=mh

K 3

X 418

Question ID : 5406265740
Status : Answered
Chosen Option : 2

Q.13 F=fafEa 7 9 «w ar arer 35 87
Ans % 1. 7 o e & e S 2|
/X 2. 39 & ISR S
75 3. 3T AT gy T B
J4.aaﬁﬁu—ch3mw%|

Question ID : 5406265730
Status : Answered
Chosen Option : 2

_ T

Q.14 FfafEa & @ & a1 o S 8?

Ans X' 1. =g &) e @ g5 Ad @l
o 2. 7Rt @ siftrer w5 2
7< 3. 3t &t ffa R & R @ @ 1
/X 4. auf § dtoR @ wEe agw I8

Question ID : 5406265736
Status : Answered
Chosen Option : 1

_ ==

Q.15 Frafafea vafaarh el 1 T a1 gw a8 78 8?2
Ans X1 gfr-ad

X 2. - e

o 3. o - o

/X 4. % ey

Question ID : 5406265737
Status : Answered
Chosen Option : 3




Q.16 uafgars 2reaf &1 @&t g4 &
Ans ( 1. Gor - 7T

X 2. HaR - gt

X 3 ef-af

/X 4. e - gra

Question ID : 5406265746
Status : Answered
Chosen Option : 2

Q.17 'aré&Y o et e &:
Ans X1 fard
75 2. swardt
W 3 s
75 4 gard

Question ID : 5406265733
Status : Answered
Chosen Option : 4

T

Q.18 SIARTETT T T+ (IMO) i JEATHd el €34 8?
Ans X‘ng?ﬁ

/X 2. Tgeh g Iedie

K 3 wg

o 4 st fren

Question ID : 5406265755
Status : Answered
Chosen Option : 2

_ ==

Q.19 YR« fi ugeht RaffRa dug frg af sifaa 7 o «ft?
Ans X" 11949

o 21952
75 3.1950
75 4.1951

Question ID : 5406265759
Status : Answered
Chosen Option : 1




Q.20 Efzrwicht siawrdia gars srgr, ¢ et o efifaet 3 s @iar war ur?
Ans X 1.2012

X 2.2013

o 3.2010

X 4.20m

Question ID : 5406265753
Status : Answered
Chosen Option : 3

Q.21 aAfergeR 09 gae (32ft v sifdfaam), 1878 forem uiRe foram ur?
Ans X" 1. SfE e

p QVACIE Gl

/X 3. ot

of 4. 7t e

Question ID : 5406265750
Status : Not Answered
Chosen Option : --

_

Q.22 %Y 7, St WRA-FireArEr EAT ST Yeh MR F4TCT @, WRd & fha Tea @ fAeperd 82
Ans X' 1 fsiiRe

v 2w

#< 3. ufdm s

X 4 @m

Question ID : 5406265751
Status : Answered
Chosen Option : 2

_
Q.23 WRAT SfAUTT 1 FF-T1 TSE AT -eh ASHTR # TaER] 6l FAHT & SR & Hafda
7

Ans  off 1 agTi6
X 2. agee 17
/X 3. 3w 20
X 4 age 19

Question ID : 5406265757
Status : Answered
Chosen Option: 1




Q.24 YR &1 WRAYH AFafa &t fhawt WaR & SmuTdere sifd & &Y 2afs a1 @?
Ans J143

K 2.4

25 3.1

5 4.2

Question ID : 5406265758
Status : Answered
Chosen Option : 1

Q.25 &t (SEBI) &t wamo= fore af g< ofi?
Ans & 1.1995

o 21992
/< 3.1988
/X 4.1985

Question ID : 5406265762
Status : Answered
Chosen Option : 2

_ T

Q.26 ugeh duedfa gt gea &0 & A 7 @ forg wr Sfta ofi?
Ans X' 1 gaim

/X 2. Rfmfor

7% 3. axgait / el oht Frafa

W 25

Question ID : 5406265761
Status : Answered
Chosen Option : 4

_ =

Q.27 ot & drs & Riy arét werer B gard R ) o
Ans X' 1 aRgH. R

W 2 g d i

75 3. aR A, soh

X 4 g

Question ID : 5406265747
Status : Answered
Chosen Option : 1




Q.28 WgHE T4t 7 arafee Y TS # fondt g am?
Ans X1 gz e

Jz.a%ﬁ'c:ma

/X 3.

X 4. g@uE

Question ID : 5406265749
Status : Answered
Chosen Option : 3

Q.29 The Prashna Upanishad is related to which Veda?
Ans X" 1 Samaveda

x 2. Yajurveda

x 3. Rigveda
( 4. Atharvaveda

Question ID : 5406265748
Status : Answered
Chosen Option: 3

Q.30 Hehel U IUTE (UTH SRR Wisae) i gfar &2
Ans X 1. 7 cafehdl Y [ SATUR 37T B aifT &
/X 2. g Iusi<HIST 1 @ A Y Tk T @R @
75 3. 78 30 &) o e B gt
W 2 miudem e aufarg

Question ID : 5406265760
Status : Answered
Chosen Option: 1

Q.31 9RA & gl ZRT ¥R & AgaEardt H Agfe, R & d@faus & fF9 srgede & dga &t
STt 82

Ans X 1 argede 31
/X 2. 3 32
/X 3. 3gme 75
o 4 sg®e 76

Question ID : 5406265756
Status : Answered
Chosen Option : 4




Q.32 FIRR de3g, = 7 @ g g ssa @ R @2
Ans X 1. iy wRr

< 2.5

J&aﬁ?r—rrg

/X 4. ufm e

Question ID : 5406265754
Status : Not Answered
Chosen Option : --

Q.33 ™iHR 6 TS T 82
Ans Jyﬁfa—q

X 2 g

75 3.am

X 4 misa

Question ID : 5406265752
Status : Answered
Chosen Option : 1

_ _—
Q.34 ag ferea g4, Sit ot dear 9 S 3+ uaR Hefda 8, o9 vaR gt we, usd s @
Hafda &1

40:8::50:7?
Ans X" 142
o 210
< 3.9
75 4.60

Question ID : 5406265764
Status : Answered
Chosen Option : 2

_ S

Q.35 afe ger AfYa sifSw vrar & 'POLICE' 1 'HFLORS' for@r ST &, at 'STATION' &kt 39 9T # &9
foraT srem?

Ans o 1 QRIWDWY
75 2. NOITATS
75 3.VWDWLRQ
75 4,PQKVCVU

Question ID : 5406265775
Status : Answered
Chosen Option : 1




Q.36 @i #t wwm, B Soft § uafag (?7) + afewnfta wof?
4,9,14,2,24,29
Ans X' 118
75 2.6
W 319
75 4.20

Question ID : 5406265773
Status : Answered
Chosen Option : 3

Q.37 ARk KTA = 32 3R KHJ = 29 &, & IWH fra= ghm?
Ans X" 126

/< 2.38

o 3.40

< 432

Question ID : 5406265776
Status : Answered
Chosen Option: 3

Q.38 faw= sivft & usiRAg (?) = o ufawnfoa wm?

R2U4X6A8?
Ans  of 1D
X 2.8

/K 310

K 412

—_

Question ID : 5406265771
Status : Answered
Chosen Option : 1

Q.39 Select the option that is related to the third word in the same way as the second word is

related to the first word.

Hot : Cold : : Stagnant : ?

Ans J 1. Flow
Z5 2 Rest
X 3. Stable

X 4. Constant

Question ID : 5406265763
Status : Answered
Chosen Option : 1




Q.40 39 farere o1 9 R St AR 21eg @ I g A @ A gH 2 uge e | Hafda B

SieRRT : gehf :: e : 2
Ans x1g1-|ﬁ
7% 2. sitefm
/X 3. g
o 4 sita

Question ID : 5406265768
Status : Answered
Chosen Option : 3

Q.41 af& GRATITUDE = 9 3iik HAPPINESS = 9, @t WELLNESS fara=1 ghm?

Ans (148
K 2.9
75 3.7
75 4.10

Question ID : 5406265777
Status : Answered
Chosen Option : 1

=

Q.42 ¥R fIereu Ry g &, B & i fonelt v & o= € ofik oo 0= 81 v ant g
Ans x1ag:n

/X 2. e

o 3. 3@

/X 4. i

Question ID : 5406265774
Status : Answered
Chosen Option : 3
=

Q.43
Ans X126

X 22

75 3.40

o Bua

Question ID : 5406265778
Status : Answered
Chosen Option : 4




Q.44 F=-91 39 o1, = il & T Heiy ot watww &1 & sl w=ar §?
forarr, 2iforer v, smfifaT
Ans X 1.C
W28
X 3A
5 4D

Question ID : 5406265772
Status : Answered
Chosen Option: 2

Q.45 TASTE, YFXYJ @ 3} uerR @afdq &, g uesR WASTE,_________ 'S ddfaa gl
Ans X" 1 CFXYJ

75 2. BFXXJ
75 3.CFXxJ

o 4. BFxvJ

Question ID : 5406265765
Status : Answered
Chosen Option : 4

R S
Q.46 ag faerea g4, Sit ot T 9 I uaR il 8, 9 uaR gt S, ugd! e @ SEfda
gl

22:35::49:7?
Ans X152

W 262

/X 3.63

/X 4.103

Question ID : 5406265779
Status : Answered
Chosen Option : 2

—_

Q.47 39 fReheu &1 gu= RS st A= srer 2@« J ust Rg (?) & H R 31 Gahar g1

Y,R1D,?

Ans X' 1.7
7528
X 3.C
¥ W

Question ID : 5406265769
Status : Answered
Chosen Option : 4




Q.48 =R T g Ry 1y §, A 9 i+ foreft varr & v & ofik g o= 81 fom/ s & g9
Ans X" 1.33-48

of 2.24-38
/X 3.67-82
/X 4.44-59

Question ID : 5406265770
Status : Answered
Chosen Option: 2

Q.49 Tg farerea g, St fieR 2ree & S uRR Hafda &, o uepR T 21eg, e 2reg 9 Hafda @1
e e ;g foreET 2
Ans X 1 591
X 2 T
75 3. e

o 40

Question ID : 5406265767
Status : Answered
Chosen Option : 4

=

Q.50 Qe fAfgye e smur §, COMMERCE &t CEERMMCO & w4 # forar s &1 S+t wrem d,
SANSKRIT ht fore wrerR foraT smgm?

Ans X" 1. ITRKNSSA
W 2. ITKRNSSA
75 3. TIKRNSSA

75 4. TIRKNSSA

Question ID : 5406265766
Status : Answered
Chosen Option : 2




